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What do you mean by normalization ? Explain first three normal

forms of a relational database. : ; 6
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What is meant by wide area network ? How does it differ

from local area network ? 6
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Explain the two fundaméntal int.egrity rules.l 6
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Explain the various keys of a relation used. in RDBMS. 6
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Note :—  Answers may be written either in English or in Hindi;

but the same medium should be used throughout the
. paper. : ;
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All questions are compulsory.
~ Answers should be brief and all parts of

a question be answered together.
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(A) Fill in the blanks : ' : 4

() e e performs the function of multi-
programming.

() TP T RS displays information such aé

instructions, messages about the state of the

(

computer, or location of the cursor in the window.

(0719 et et SO .... allows us to navigate from one

web page to another.
(%) OLE stands BOF .o iceisrandnson :
(B) Answer in one line : ; : 3
0] What is Ribbon ?
(i) What is tem.plat;: ‘?

(ii))  Explain audit trials.
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What is Operating System (OS) ? Explain its functions. 6
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Examine the role of the following in a computer network : 6

(i) Repeaters

(i) Hub

(#if)  Switch,
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